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lo
1)
wea- << Vector Anal ysi s*;
ClearAl [x, VY, z]
Set Coordi nates[Cartesian[Xx, V¥, z11;
C ear [x]; AAear[y]; Cear[z];
FIX , Y,z 1:={yz"2, xz"2, 2Xxy 2z}
FIX, y, z];
Curl [F[x, vy, z]]
Oout[49]= {0’ 0, 0}
Pot ent i al
- PIX_, Y, Z_]1:=Xyz"2
wu- Print ["Linear Integral: ", ¢[2, 1, 3] -¢[1, -1, 11]
Li near Integral: 19
1)
wa- Priont ["Pol ynom al y=ax+b" ]
Fit[{{1, 1.5}, {1.5, 2},
{2.2, -0.5}, {2.8, 1}}, {1, X}, X]
Pol ynom al y=ax+b
ousa- 2. 305221 - 0. 6961178 x
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Clear [f]; Oear[X];

f[X ]:=Log[l+x"2]

f [X]

a=0; b=0.5 h=0.1; n=(b-a) /h;
Print [N[f [a], 5]]

Sb0 =f [a] +f [b]; Sbl =0;

Do[a +=h; Sbl +=f [a];

Print [N[f [a], 5]], {i, 1, n-1}]
Print [N[f [b]], 5]
Sb=h=x* (Sb0 +2Sbl) /2;

Print ["Conposite Trapezoidal | (f)=", Sb]

Log |1 +x?]

0
0. 009950331
0. 03922071
0.0861777
0. 14842
0. 22314365
Conposite Trapezoidal | (f)=0.03953405

1)
wa- ClearAll [s, t]

Print ["g(t) =", Full Sinplify]

| nver seLapl aceTransform[s/ (s*"2+2s+5), s, t]11]

g(t) = %e‘t (2Cos[2t]-Sin[2t])
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In[69]:= (:I earAl | [n]
T= 2;
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(4/72) xIntegrate[t *SIin[(2*n*xPi xt) /T], t]

bn=(4/2)*

Integrate[t *«Sin[(2*n*=Pi xt) /T], {t, 0, 1}] /.

{Cos[nx] » (-1)™n, Sin[nnx] »0};

Print ["b, = ", bn]
t Cos[nxt] Sin[nnt]
out[71]= 2 - + )
n s n< s
2 (-1)"
by = - (-1)
n st
1)

w2~ Y = 1 nterpol atingPol ynom al [

{{0, 0.1}, {0.3, -0.5}, {O0.7, 0.3}}, xI;

Print ["Py(x) = ", Expand[y]]
P,(x) = 0.1-3.714286 x +5. 714286 x?



